3 Faﬂb%&%d@ | [ ‘MW

_H&/ m (}Fﬁ R _
are. 0F abimpnuial (AN o (AP

o Armomial (puroct %ufmwou%g

(/J+B\ = A+ JAR Y B*

(ABY= AP— 2hb+B*

How do Aok muﬁém i pufwtnmomi Suaic,
_GMALiLm,me

1l OrdM o fu

e et

’ﬂwfsi' A [0St TUNS must be é%wfw (AZde?)

Ho [-) bedrt, Mo ARG B

i pusdh,

o e 1554 B fum

A

~0

L)

fj' Heen

He' puddle

TLm,

Al \%MJACE&L\[M%U

:ﬂgn fl

I = (Y A

fu et i o !

07

Tt ol B emdhovn

(‘c::\

J

—_—

18 Ard Twms (tSguary? A g ¢

DA £ 12 (i msrhuﬂ

. 9
fs "4g e e Funs m@>




T fuhe: A% Gap et = (A

4 The s q s am,mm by Hw

g middle t0mnm.

/’“‘W

b q = (143)R

- ?M\If +J5y3 = (x —-—5})”’“

Tuehe: A0wm3+ Tamn o 480>

Romonbw GCF (2 2 Gm™ + Qmn+1bn?)

’[M B Uik ond

/)fi[) Om* 4 HMQ‘MP‘ o fuet Spuaves) 5?0 /

) AhD = ABmedn) = PHmn

v

Fathy @ J, 6m+Wﬁm+h‘n\

or

 B3(3meAn)”

h_a{cwa,lwmzk:) Jwl FIlL

ot it # by %{ {1449

At




¥ ?W‘ux_) Problem L ont pa; 5%

1S 1 St hoth <sguared,

kbt #2) & Ry Sinee e aria

L ek 0ty
Mﬁﬁ/y{}%ﬂ#&%ﬁ% g# A binonuind
lem?="12m + 81 7t B
@7 (Y > N

L (0-2)* {5 aree

_____ /_\/ — T

~fim )is ¥ T
i







__ Pinomyals

P@Urw o} BH: (A+B)U\ B) = AP

gt A For m S C{’}SCM L(.a{,_

¥ Differuness 0F T Tuo%g@r 18 AR /A4 BIA-B)

%MO wi0ea0aga oiffunes of

o (o hmu Mluse

be pmet:

QQ%.JQU J&JJ =

) C) i'hJ_/aOIHDMI al

¢ ot tems pu ﬂf;gzrﬁ#d“

o _'OA % WMW U(orma‘ by o_mipus Sign.

Got i #5)

) N[00

B)s “l

/ V4l OY\H 0>

" (s4 ) 4

bt )

Ny 15 gt Hh difforsgec

) 45074

B) (' aﬁswam T

6d+€¥5dé§

g aslmlt’

&%gam o

hot (H:Lf

T by o alwap Tarhy ao-fu 66F 1<

- B\ QXMQ?C-*J

g |
% NED

A )




St sure alwougy Oowglikoly fhedor

(futhor Until faetrimg—is—no [onger

ossile —po ooy Qoaon fathrs oHtor

F D 1)

e

w0

— Ty H2) X m of 7y,
%M%%u )xalll Hifforae o lﬂcﬁum

LT 71D )

N -t

ﬂﬁﬂﬂ@”t%

(%‘M—&""(ﬂ % Wp*)

ey 22 - Hpb! )
— Fn?- Hpbﬂ)

jb""m,f’*l by(a- -4h)

TR —&ax34-8_“ _—

7( &wm%




Name Class

Date———

Practice

Form G

8 - Factoring Special Cases

Factor each expression.

1. /7 + 10k + 25 2.v'— 14v + 49

4. m*+4m + 4 5.4°+6q+9

7. 36x* + 60x + 25 8. G4x* +48x + 9

10. 165" — 725 + 81 11. 257 — 80r + 64
13. 81w* + 144w + 64 14. 16¢” — 88e + 121
16. 144f — 24f + | 17. 4a" - 36a + 81

3.4 -22d+ 121

6. p° —24p + 144
9. 4910 + 14n + 1
12.9¢° - 24g + 16
15, 25/ + 100/ + 100

18. 494% — 84d + 36

The given expression represents the area. Find the side length of the square.

19, Edx® +80x + 25 0. Qe — 24y + 16

99 360% +84n + 49 23 100W? 420w + 1

25, Error Analysis Describe and correct the error
made in factoring the expression at the right.

2_28=7(25x2 - 4)—

21. 424 366+ O

24, 16s%+ 10ds+ 163
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Name Class Date

Practice (continued) Form G

8 - Factoring Special Cases

Factor each expression.

26.m" - 49 27. ¢~ 100 28.p°- 16

29. 40" — 25 30. 64n* — | 31.25x" — 144
32.50g" -8 33.84° -8 34.27x* - 48

35. 24¢% — 54 36. 245k - 20 37. 11217 - 63

38. 48x% + 72x + 27 39. 847 + 80b + 200 40. 48w> + 48w + 12
41. 455> = 210s + 245 42. 450 — 72t + 24 43. 100z — 120z + 36

44, Writing Explain how to recognize a perfect-square trinomial.

45. a. Open-Ended Write an expression that shows the factored form of a
difference of two squares.
b. Explain how you know that your expression is a difference of two squares

Factor each expression.
46. 365° — 60s" + 25 a7. "’ - 30°4* + 2254 48. 257° + 401° + 16

Mental Math For Exercises 49-51, find a pair of factors for each number by
using the difference of two squares.

49. 24 50. 28 51.72

52. Reasoning Explain how reversing the rules for multiplying squares of
binomials can help you factor a perfect-square trinomial.

53. Writing The area of a square parking lot is 49p* — 84p* + 36. Explain how
you would find the length of the parking lot.
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Name

Class

Date

Practice

Form G

8-/

Factor each expression.

1. h2 + 10h + 25 2,
4. m® +4m + 4 5,
(m + 2)*
7. 36x% + 60x + 25 8.
(Gx + 5)°
10. 1652 — 725 + 81 1,
(4s — 9)°
13. 81u? + 144w + 64 14.
(9w + B)*
16. 144f2 — 24f + 1 17.
v d ‘-_l

Factoring Special Cases

2 — 14v + 49
(v=7)

G +6g+9

(g -+ 3)¢

64x> + 48x + 9
(8x + 3)*

25r2 — 80r + 64
(Br — 8)*

16e* — 88e + 121
(4e — 11)2

4a* — 36a + 81

(2a — 9)°

3. d? — 22d + 121
ra—
6. p° — 24p + 144

(p =2y
9, 49n% + 14n + 1

12. 9g° — 24g + 16

(3g — 4)=
15, 25/% + 100j + 100 . 2.
18. 494* — 84d + 36

|
\ /ot

The given expression represents the area, Find the side length of the square.

19. 20.

64x2 + 80x + 25

22, 23,

36n2 + 84n + 49
6n + 7

Oy? — 24y + 16

100w2 + 20w + 1

10w + 1

25. Error Analysis Describe and correct the error
made in factoring the expression at the right.

(25x% = 4) factors to (55 — 2)(5x

(50=2)2

2), not

21.

412 + 36t + 81

24,

1652 + 104s + 169

1¢ i 13
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Name Class Date

8 7 Practice (continued) Form G
-— - - _\\
Factoring Special Cases
Factor each expression.
26. m? — 49 27. & — 100 28. p% — 16
m+2m-7) - {c + 10)(c — 10) (p + 4)p - 4)
29, 4a® — 25 30. 64n% — 1 31. 25x2 — 144
(2a + 5)(2a - 5) - (8n + 1)(8n — 1) (5x + 12)(5x — 12)
32. 50g% — 8 33. 84> - 8 34, 27x% — 48
2(5g + 2)(5g9 - 2) 8(d + 1)d — 1) 3(3x + 4)(3x — 4)
35. 24¢® — 54 36. 245k% — 20 37. 112h2 — 63

6(2e + 3)}(2e - 3) - 5(7k + 2)(7k — 2) 7(4h + 3)(4h - 3)

38. 48x% + 72x + 27 39. 8b% + 80b + 200 40. 48u” + 48w + 12

3(ax + 3)* 8(b + 5)° 12Qw + 1)?

41. 4552 — 210s + 245 42, 45 — 72t + 24 43. 100z°> — 120z + 36
5(3s — 7)* 3(15t% — 24t + 8) 4(5z — 3)°
44. Writing Explain how to recognize a perfect-square trinomial.

The coefficient of the squared term and the constant will be perfect squares. Twice

the product of these numbers is the coeffiecient of the middle term.The sign before

the constant will be positive.
45. a. Open-Ended Write an expression that shows the factored form of a
difference of two squares. Answers may vary. Sample: (2x + 3){2x — 3)

b. Explain how you know that your expression is a difference of two squares.
Answers may vary. Sample: 4x2 — 9; 4x? and 9 are squares and they are
separated by a subtraction.

Factor each expression.
46. 3653 — 60s* + 25 47. 1% — 30542 + 2254* 48. 25n°% + 40n® + 16

(6s* — 5)2 (¢ - 15d%)° (5n° + 4)2

Mental Math For Exercises 49-51, find a pair of factors for each number by
using the difference of two squares.
49, 24 50. 28 51. 72 ,
24 =52-12 28 = 82 — 62 72 = 92 ~ 32
= (5 + 5 - 1) = (6)(4) = (8 — 6)(8 + 6) = (2)(14) =(9 + 3)9 — 3) = (12)(6)

52. Reasoning Explain how reversing the rules for multiplying squares of
binomials can help you factor a perfect-square trinomial.

When the b term in a trinomial is exactly twice the product of a and c, you can
factoritas (@ + b)? or as (a — b)2.
53. Writing The area of a square parking lotis 49p* — 84p? + 36. Explain how

you would find the length of the parking lot.

Factor 49p? — 84p? + 36 to find the length. You get (7p2 ~ 6)2 so each side has a
length of (7p? — 6).
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